SK 92072

SK 92072 SK 92072AX
kBre
K
189 m n 3 5% 3
56
70
29
zm 1 \ /"\
\ AN 28 — x
& ol E o ST o a
o o @ %L —
g NS C
= gé ] e S/ @ o
[ % i& 225 4 40 116
21 70
Tk = i
104 524
25 25
SK 92072AF SK 92072VF
KIBre g1Bre
k1 gl
191 m n 805  fI
58,5 2s1 M6
) I\
— . M/
— .l s /
— | —gg 1 o
| } gi_ 35|
— NS
S/ ‘
116
Al
40
e 120,5
25 25 al b1 ci el f1 s1
140 95 10 115 3 4x9
SK 92072AFB(AXB) =11 A27 SK 92072AD
|
" g - =
I A Y R
I mﬂj
=
+=> 0 A45 63 S/L 71 S/L 80 S/L 90 S/L
g 130 145 165 183
g1/giBre | 115/123 | 124/127 | 1427143 | 147/148 *
k1/k1Bre | 383/439 | 405/463 | 427 /491 | 467 /542
o[ D102
k / kBre 381/437 | 403/461 | 425/489 | 465/ 540
mimBre | 12/19 | 20/27 | 22/26 | 26/30 a
n/nBre | 100/132 | 100/132 | 114/153 | 114 /153
p / pBre 100/87 | 100/87 | 114/108 | 114/108
D56 G1000 www.nord.com



SK 92072

SK 92072AZ
k1Bre
191 “ n
58,5
= — N\
> i g . B

) 2 -

N y

SK 92072 AZB = A27

L
154

SK92072AZSH =m0 A22

e

(&3]

I

1}

—
Ny

N
T

52,5

235
@72

@25 H7

025 hb
—tt

144
| /ﬂ{(,,,,/mJW E @ |
I Uy I S ——
SIS s IS @'_1_.—4—
100
32 30
s e— E -
o [
L i E— S
t o[ A45 63 S/L 71 S/L 80 S/L 90 S/L
g 130 145 165 183
gl1/9g1Bre | 115/123 | 124/127 | 142/143 | 147/ 148
k1/k1Bre | 383/439 | 405/463 | 427 /491 | 467 /542
m / mBre 12/19 20/27 22126 26730
n/nBre 100/132 | 100/132 | 114/153 | 114/153
p/ pBre 100/ 87 100/ 87 114/108 | 114/108

=[J D102

.
W

www.nord.com

G1000

D57




SK 92172

SK 92172

SK 92172AX
kBre
k
200 m n 4 63 63 4
63
59 >ﬁ< F—{ /Vf:ﬁ* \\ f‘k—éﬁ
)/ — 1 | f 3|
) = N ©
eI 5 J] 1 = it
5 - —/ —
i3 o) < B¢
o9/ |37 22,5 3. 40 ] | 134
90 - | \ 100 57
40 120 | 47
125 | 324 135 —%—
40 40
SK 92172AF SK 92172VF
kBre q1Bre gi1Bre
K gl sl
201 m n . 65 e 65 92
64 0s1 23
T \ \
— ammai™
— ETT“ 1]
— g W/ T Srel 8
— I P
L&: S/ < i i \ Si S
138
135 L 135 40
1 186 40
[ | | - 22,5 4 32 4 At
«of
30 30
al b1 cl el f1 s1
160 110 12 130 3,5 | 4x9
SK 92172AFB(AXB) =1 A27 138(134) _ 19014)
|
B
e
115
I e
S —
[Te)
=
== (0 A45 63 S/L 71 S/L 80 S/L 90 S/L
g 130 145 165 183
g1/g1Bre | 115/123 124 /127 142 /143 | 147 /148 *
k1/k1Bre | 393/449 | 415/476 | 437 /501 477 | 552
k / kBre 392 /448 | 414/475 | 436/500 | 476 /551 = D102
m / mBre 12/19 20/27 22 /26 26/30 a
n/ nBre 100/ 132 100/132 114 /153 | 114 /153
p / pBre 100/ 87 100/87 114/108 | 114/108
D58 G1000 www.nord.com



SK 92172

SK 92172AZ

Il ]W

X

138

30

SK 92172 AZB =0 A27

SK 92172 AZD

180”@

—

138 1

-MI“

Sassasaveesa e ANNNANN ey

Y2
%/Il‘/al,////aI{-ﬁ

Bl
A

135

&

7]

%

SK 92172AZSH =1 A22
170
E E«TTO
oy I e —
il = = I HER B
35 30
© o]
A ——
(S = Q

50

o

225°
. 132
270 L 361,
+ = A45 63 S/L 71 SIL 80 S/L 90 S/L
g 130 145 165 183

g1/g1Bre | 115/123 | 124/127 | 142/143 | 147/148

k1/k1Bre | 393/449 | 415/476 | 437/501 | 477 /552 o0 D102

m / mBre 12/19 20/27 22/26 26730

n/nBre 100/132 | 100/132 | 114/153 | 114/153

p / pBre 100/ 87 100/87 | 114/108 | 114/108

www.nord.com

G1000

D59




SK 92372

SK 92372 SK 92372AX
kBre
k
233 (2481 m n 476 76 4
80
29 -1 - [ (+ +\
}/ — & 3
0] —
gl ENE — | i
iNINo e G
\
29 /|50 28 650 164
110 -
45 144 60 g%
155 L4l 162 g ol i=———
IS pIIIIIS.
50 50
SK 92372AF SK 92372VF
k1Bre g1Bre g1Bre
K o gl
232 (2471) m n 4 78 120 78 120
79 251 = ‘ o
— I~ M10
" L\ L\ RIS
%/ — T—T 1T ?" /
e b o 5 1 19}
—_ o H H ~ B ©
i - ]l ! _zi o
— = 35S - = ©lg|®
Lk— S/ ® jL I gi 8 o f 50| oIS
= ﬁ =
164 170\
156 iy 156 1750
il i e 28_5 40 5 _|n
]
20 0 al | b1 | e | el | f1 | st
160 110 12 130 3,5 4x9
200 130 12 165 35 |4x11
SK 92372AFB(AXB) =01 A27
|
I \\\\\\\\\\\\\\\\\\\\\(\\!s-\wlg}///J
S U R s
N . %;j
(S
+ =L A45 63 S/L 71 SIL 80s/L | 90s/L" | 100L"
g 130 145 165 183 201
gl/g1Bre| 115/123 | 124 /127 | 142 /143 | 147 /148 | 169/ 159
k 1/ k1Bre | 424 /480 | 446 /504 | 468 /532 | 523 /598 | 553 / 644 o0 D102
k/ kBre | 425/481 | 447 /505 | 469 /533 | 524 /599 | 554 / 645
m / mBre 12/19 20/27 22 /26 26 /30 32/36 a
n/nBre | 100/132 | 100/132 | 114 /153 | 114 /153 | 114 /153
p / pBre 100/ 87 100/87 | 114/108 | 114/108 | 114 /108
D60 G1000 www.nord.com



SK 92372

SK 92372AZ

232 (2471) m

L

[

SK92372AZB =r1 A27

164 ]

9

SK92372AZSH =01 A22

75

200
~ ™~
T FTTol o
B 3 1
S e —
36 30
O — (i)
===
(&S] = Q
75 75 14
aal
— o
s Il <
? L
[S]
. 32
270 5
+ o0 A45 63 S/L 71 SIL 80 S/L 90 s/L" 100 L"
g 130 145 165 183 201
gl/g1Bre | 115/123 | 124/127 | 142/143 | 147/148 | 169/ 159
k1/k1Bre | 424/480 | 446/504 | 468/532 | 523/598 | 553 /644 o0 D102
m / mBre 12/19 20/27 22/26 26 /30 32/36
n/nBre | 100/132 | 100/132 | 114/153 | 114/153 | 114/153
p / pBre 100/87 | 100/87 | 114/108 | 114/108 | 114/108
www.nord.com G1000 D61




SK 92672

SK 92672 SK 92672AX
kBre
k
280 (2947 3029  m n
100
o1 % f | —— NN I
o — ] |d .
83 () /g — S
. i — -
A N s) S
o
\
21 35 33 4 60
130 o
|_45 |
203 ENE
SK 92672AF SK 92672VF
k1Bre g1Bre g1Bre
ki 1 of
9
268 (282! 2902) _ m n 4 8 123 81 123
89 Qs 3 ‘ of
= — N\ )| MO
— = [ i . il
. =-t [1a. [/ =0 :
 S— ~ R <
o 8 — & =g el_ & i /ﬁ ©|
[ _ 0 Eg _ L — :U
4 = A4 N +H QL . f = §Ig®
: ok S T
170 183
190 cij_ﬂ 5 i
m[E [ I = 33 5 50 5  _|[_f1
aof TT E—L—L T
= Qi oof
[
55 55
a1l b1 ci el f1 s1
160 | 110 | 12 | 130 | 35 | 4x9
200 | 130 | 12 | 165 | 3,5 |4 x 11
SK 92672AFB(AXB) =0 A27
|
I
|
I
® o A45 63 S/L 71 SIL 80 S/L 90 s/L" 100 L" 112 M? | 132 S/M?
g 130 145 165 183 201 228 266
g1/g1Bre | 115/123 | 124/133 | 142/143 | 147/148 | 169/159 | 179/170 | 204 /196 *
k1/kiBre | 460/516 | 482/540 | 504 /568 | 558 /633 | 588/679 | 616/709 | 707 /808
k/kBre | 472/528 | 494/552 | 516/580 | 570/645 | 600/691 | 628/721 | 719/820 =L D102
m/mBre | 12/19 | 20/27 | 22/26 | 26/30 | 32/36 | 45/49 | 47/46
ninBre | 100/132 | 100/132 | 114 /153 | 114 /153 | 114/153 | 114/153 | 122/185
plpBre | 100/87 | 100/87 | 114/108 | 114/108 | 114/108 | 114/108 | 122/139
D62 G1000 www.nord.com



SK 92672

SK 92672AZ
kiBre
K1
268 (2821 2902) m n
L&: )/

254

170

SK92672AZB =00 A27

170

—

_235

SK92672AZSH = A22

78

208
| 5 @—'ﬁ—;]im o [ ﬂw
X 0 - vy 3 M -
B ] = — =11 {
I \\\\m\\W\\\\\(‘ﬂg‘%}/// < %_l_'_ = ) ! ﬁﬂ
140 40 40 |
| = 2 -
] < <
: i e 1 )
I mﬂj = =8
SK 92672 AZD
90°
: 3 78
135° 4
180“@ J
ks —] o
o ©
é B i fhs i
\ ) J
205° 315 g h
=
. 132
270 55
He (0 A45 63 S/L 71 SIL 80 S/L 90 s/L" 100 L" 112 M? | 132 S/IM?
g 130 145 165 183 201 228 266
gl/g1Bre | 115/123 | 124/133 | 142/143 | 147/148 | 169/159 | 179/170 | 204/196
k1/k1Bre | 460/516 | 482/540 | 504 /568 | 558/633 | 588/679 | 616/709 | 707 /808 20 D102
m / mBre 12/19 20/27 22/26 26/30 32/36 45/ 49 47/ 46
n/ nBre 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114/153 | 122/185
p / pBre 100/ 87 100/87 | 114/108 | 114/108 | 114/108 | 114/108 | 122/139
www.nord.com G1000 D63




SK 92772

SK 92772

SK 92772AX
kBre
K
314 (3281336 03433  m n 5 91 91 5
112
22 ——
0135 ) i N\ [+ )
— — B 3)
= d S — /=
et LS e T
% g — || || Ny
%ﬁx ; U % a |° % . ol
|
13,5/ 139 38 70 1133 197
120 o \ 140 9%
60 %@ 175 1179 Zr
215 1605 220 e —
4
60 60
SK 92772AF SK 92772VF
k1Bre olBre qlBre
K1 o el
313 (327133523423 m n 5 o1 o 91 139
111 gst pe ‘ el
~ ™\ ~ M12
—= [l ) g
— [l ] T Il
1 o |4 — o) o)
— Tyl 3 /“2 ©f _
—— giéa of 1l j 5 §I§®
192 zo;
220 f f1 550 170
m?{;]i [ [ ah- 38 7.5, 7 A
38— sen=}
SIS =
[
60 60
al b1 cl el f1 s1
250 180 16 215 4 4x13,5

SK 92772AFB(AXB) =0

A27

Bl 11
L v )
SNANANAURNNNNNSNNNNNNNANANRY 22

I R
I mﬂ
S]
+ o[ A45 80 S/L 90 S/L" 100 L" 112Mm? | 132s/M?
g 165 183 201 228 266
g1/g1Bre | 142/143 | 147/148 | 169/159 | 179/170 | 204/196 Q?
k1/k1Bre | 549/613 | 603 /678 | 633 /724 | 661/754 | 759 /860 0
=0 D102
k/kBre | 550/614 | 604 /679 | 634/725 | 662/755 | 760 /861
m/mBre | 22/26 26 /30 32/36 45/ 49 47/ 46 a
n/nBre | 114/153 | 114/153 | 114/153 | 114/153 | 122/185
p/pBre | 114/108 | 114/108 | 114/108 | 114/108 | 122/139
D64 G1000 www.nord.com



SK 92772

SK 92772AZ

k1Bre 1Bre

313 (327 133523423 m n

[

[

87 87
SK 92772AZB =11 A27 SK 92772AZSH =11 A22 |4
69 — e
192 _ 24 )
181,85 238
21| —— < — ISEESIES) - -
I e Sl == [ b@ |
44 40
| € e o
R = <
2 o T—TTe
[ S— g =3
(]
SK 92772 AZD
90°
: 4 87 87 14
135° cun
| 1
W80"@ 0§ iy J L i —
' L = =l S
& fhihs of F
225 Q 1
(]
. 56
270 2
+ =L A45 80 S/L 90 S/L" 100 L" 112 M? | 132s/M¥
g 165 183 201 228 266
gl/g1Bre | 142/143 | 147/148 | 169/159 | 179/170 | 204 /196
k1/k1Bre | 549/613 | 603/678 | 633/724 | 661/754 | 759/860 =01 D102

n/nBre 114 /1563 | 114/153 | 114/1563 | 114/1583 | 122/185
p / pBre 114/108 | 114/108 | 114/108 | 114/108 | 122/139

m / mBre 22126 26/30 32/36 451749 47146 a

www.nord.com G1000 D65



SK 9012.1

SK9012.1 SK 9012.1AX

kBre

238

Jen

15

M10

166

130
229
193

930 kb
D'—‘K:ﬁ

12

37

35 o 330 5 50 5
130 | 1 ‘ ‘ ~
[ 45 wlg@ = gH,,ﬁg,ﬁ
172 S
50 50
SK 9012.1AF SK 9012.1VF
k1Bre
K1 68 134
1
= 249 2187’6 68 - fﬂ 3 2;1
148 39 =
st m n >—:c1 /M
\Q n | ]
gn : IRCT) T
$4 Y = | o
@ — ] ol —| B N~ - ol 5| @
\ Y S — g Q8 S |lE g8 s
\ = 2 sE— E g
j L J_J
148 = cl ‘ 33,0 5‘ 50 ‘ 5
144 m%@ .
[ [
50 50
al b1 cl el f1 s1
200 130 12 165 35 | 4x11

SK 9012.1AFB(AXB) =@ A27

= =0 A45 63 S/L 71 S/L 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228
g1/g1Bre | 115/123 | 124/133 | 142/143 | 147/148 | 169/159 | 179/170 *
k1/k1Bre | 445/501 | 485/543 | 510/574 | 551/626 | 581/672 | 604 /697
k / kBre 434 /490 | 474 /532 | 499/563 | 540/615 | 570/ 661 593 / 686 ZH D103
m / mBre 16/23 42 /44 47 /51 52 /56 58 /62 74178
n/ nBre 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114 /153
p / pBre 100/ 87 100/87 | 114/108 | 114/108 | 114/108 | 114/108
D66 G1000 www.nord.com




SK 9012.1

SK 9012.1AZ

249

o

N )
il B |
" F@J
H ) _/
Lz ¥ |
L @8xi2H 144
56,14 148
~
o] T [ I
8l gl f—————
S
50 50
SK 9012.1AZEA SK9012.1AZB =1 A27 SK 9012.1AZSH =11 A22 . .
148 23,5 67 J
DIN 5480 N = S 188 |
BiS —_— ‘
g \ SHIAE - 21t ol [
S &l I Wyl S . 218 8 |l
\\\\\\\\\\\\\\\\\\\\\\\‘h\\(l//// S ﬁ_l—'_"_ S
28| | 35 35 28 120
120 40 =] ©
148 A R e — £
” f g —TTH
N30 x 1,25 x 22 x 9H i S =8
SK 9012.1 AZD SK 9012.1 AZK
90 .
135 ° /@\ 45 368 68 14 3
@ %@) 3.0 1
@ L N —H=
wao"@ () = ‘ "ﬁ B
i B Y sl N I
X o ‘(:‘ -9 ‘
& ; s
o
= \
o [}
225 w = g L E
o ) \
270 32 10,5 52
38 30 152]
36
+ = A45 63 S/L 71 S/L 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228
gl/gi1Bre | 115/123 | 124/133 | 142/143 | 147/148 | 169/159 | 179/170
k1/k1Bre | 445/501 | 485/543 | 510/574 | 551/626 | 581 /672 | 604 /697 o[ D103
m / mBre 16 /23 42/ 44 47151 52 /56 58 /62 74178
n/nBre 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114 /153
p ! pBre 100/ 87 100/87 | 114/108 | 114/108 | 114/108 | 114 /108
www.nord.com G1000

D67

N N



SK 9013.1

SK 9013.1

kBre

238

SK 9013.1AX

Jen
lea

148

SK 9013.1VF

68 134
113 21

<

I
1
To

=

232
197

12

71
16 58 m n
@
o
% DM
Ol =
U
L0 330 5 50
‘ ,
130 L{L wX:@ M
172
SK 9013.1AF
k1Bre
k1
249
5182 58 m n 148
Mg\
;AT .

\ £ 2 h —1) ) 7 €
\j ﬂ =S h
- E _

148
3 Ei[f!i
Sig
50 50 b1
130

SK 9013.1AFB(AXB)

230 k6

bl 6
@01

= A27

vy

= =0 A45 63 S/L 71 S/L
g 130 145

gl/gi1Bre | 115/123 | 124/133

k1/k1Bre | 503/559 | 543/601
k / kBre 492 /548 | 532/590
m / mBre 16 /23 42 /44
n/nBre 100/132 | 100/132
p / pBre 100/87 | 100/87

4

=L D103

D68

G1000

www.nord.com




SK 9013.1

SK 9013.1AZ
k1Bre
k1
250
83
58 m n
§ o ﬂ =] = \ \
MJ—LJ - J
| g8x12M1 144
148
]i,,i, [ [
50 50

SK 9013.1AZEA SK9013.1AZB =10 A27 SK 9013.1AZSH = A22

63 68
DIN 5480 N 67
_ 188 ‘n
To) x ‘ Te) | S ] ™~ BE —_— !
N > - ™M 4 T T4 [e)}
=L 5| I e 2 - Qig g |l I
08 35 15 28 \\\\\\\\\\\\\\\\\(\;\leéli// g %_l—'—"_ S
120 40 |40 |
145 ! 2 S
o
= 4
S CT—T T
N30 x 1,25 x 22 x 9H [ mg% = =— 3

SK9013.1 AZD SK9013.1 AZK

90
_, 68
135 ° /@ 15° 3,68 68 14
5 -

3
@ %@2 N 3
- @) i
o W — 7 L
180 @ h E = O = I
e | A el RN = = < f
‘H SE 5 o T — ~
|- — © ©
Cé% S — ~ g
= 0
225 ° T @EK o ' & N =
. (] p = 10,5 ‘
270 M5, L
30 320
36 36|
+ = [ A45 63 S/L 71 S/L
g 130 145
gl1/g1Bre | 115/123 124 /133
k1/k1Bre | 503 /559 | 543/601 o> D103
m / mBre 16/23 42 /44
n/ nBre 100/ 132 100/132
p/pBre | 100/87 | 100/87
www.nord.com G1000 D69




SK 9016.1

SK 9016.1

kBre

238

SK 9016.1AX

\
T 7171
Sl =3
e u M12
Ol ==
N)%E N~ fji ‘D/ $f71$
A N I A N S . ©
el — - o S| TE=ED 0
i =) e e gg ST
Ll — —— ) i " ® &
B L |
T o 0 148
7 =
38,0, ‘ 56‘ 7 51T a8 . ‘ ‘
T E SR
142 S 4
50 50
SK 9016.1AF SK 9016.1VF
kiBre
144
Zlare 68 13 1 12 31{1
-G -
148 39 I M12
>f‘<c1 r
n | /
— | /
ﬂ ; © i ©f ©|
Y|l §Ié S s ] glé S
s H N
==l ‘ 380 7 56 7
PRy —
al b1 ci el f1 s1
200 130 12 165 3,5 4 x11
SK 9016.1AFB(AXB) =01 A27
|
Il
|
]
o [ A45 63 S/L 71 S/IL 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228
g1/g1Bre 115/123 124 /133 | 142/143 | 147/148 | 169/159 | 179/170
k1 / k1Bre 445/ 501 485/543 | 510/574 | 551/626 | 581/672 | 604 /697
k / kBre 4341490 | 4747532 | 499/563 | 540/615 | 570/661 | 593 /686 =L D103
m / mBre 16 /23 42 /44 47 | 51 52 /56 58 /62 74178
n/ nBre 100/ 132 100/ 132 114 /153 114 /153 | 114/153 | 114 /153
p / pBre 100/87 100/ 87 114 /108 114/108 | 114/108 | 114/108
D70 G1000 www.nord.com



SK 9016.1

SK 9016.1AZ
k1Bre g1Bre
k1 gl
250 3 68 68 3
83 m n
L 3]
gi,‘z}—m

k Jﬁ@
T[ILU
: y
=

L J J ’“u
=ik =0
_ Il @8x12H1 144
56,14 148
gﬁ i i i
S Q
S
50 50
SK 9016.1AZEA SK 9016.1AZB = A27 SK 9016.1AZSH = A22
68 68
DIN 5480 N /8
L] S
R nE===n g
28 35 15 28 ANAANANAANNNANNNNNNNIANN AN = % -
120 — N 40 40
148 [ i R B © - o
ol o T ——1— =)
N30 x 1,25 x 22 x 9H I m‘é% 3 = —t ‘éi
SK 9016.1 AZD SK 9016.1 AZK
90°
=y 08
135° /@\ 45° 368 68 14 T

3
@& - B T -8 L

2

N7

W
| Ki
160

12

225°

70,5

= |l
Ew
240
el
L

270°

t o[ A45 63 S/L 71 SIL 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228
g1/9g1Bre | 115/123 | 124 /133 | 142/143 | 147/148 | 169/159 | 179/170
k1/k1Bre | 445/501 | 485/543 | 510/574 | 551/626 | 581/672 | 604 /697
m / mBre 16 /23 42144 47151 52 /56 58 /62 74178
n/Bre 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114/153
p/ pBre 100/ 87 100/87 | 114/108 | 114/108 | 114/108 | 114/108

= D103

www.nord.com G1000 D71



SK 9017.1

SK 9017.1 SK9017.1AX
kBre gl1Bre
k 145 145
238 120 70!
71 7 ot
16 58 m n

15

rl
N
=)/
)
J

235 kb

166
130
/A

41
16 ‘
AN
40
.
"1
\ |
g
229
193
) —
= o
o))
[

37

35 e 28 g | 145
130 | 80 L 56 7 120 || s
45 9{;@ 140 | 75 ‘ ‘
172 142 |
50
SK 9017.1AF SK 9017.1VF
kiBre
W 68 144
249 13 _ 31
= oiBre 68 - 113 ﬁf; T
x 58 m N ol <T‘>7< >j:c1 M12
R X /

/

&

L

@@= U]

_—
&
40
T
[TEITTL
p
|
\ j
29
i
|
]
29
@40 H7
2b1 6
2al
232
197
12
235 k6
b1 6
?al

. v letly =

al b1 ci el f1 s1

200 130 12 165 35 | 4x11

SK 9017.1AFB(AXB) =mm A27

I S )

%
SIS

120

+ =0 A45 63 S/L 71 S/L

g 130 145
g1/g1Bre | 115/123 | 124/133 *

k1/k1Bre | 503 /559 | 543 /601
k/kBre | 492/548 | 532/590
m / mBre 16 /23 42 /44
n/nBre | 100/132 | 100/ 132
p / pBre 100/ 87 100/ 87

=0 D103

D72 G1000 www.nord.com



SK 9017.1

SK 9017.1AZ

k1Bre
k1

58

12,45

40

[T

g

TTITTETIITT

MJ_LHE

gz
56,14

144

148

SK 9017.1AZEA SK9017.1AZB =01 A27 SK 9017.1AZSH =10 A22

68 68

3
/8 3
DIN 5480 N 88
. s P
£ 2 ST o
I U] g (28 S
SIS [ @'_l—-—-'_ S
wl s Lol s .
‘ 120 . - | 40| |
148 [ U I @ = 2f
I | e e
N30 x 1,25 x 22 x 9H I mg% 2 -3t
SK9017.1 AZD SK9017.1 AZK
90°
68
135° /@ 45° 3 68 68 14
@F 3L
n @ % L
180°@ () T—h — ‘ ,
3/ g | E R N || IR
E E| T ~
_[__H =N X 3 =
@ S L ©
225° , i @EK gh \ ;-
J &
270° 32 5‘2
R 132
1 36] i
+ o[ A45 63 S/L 71 S/L
g 130 145
g1/91Bre | 115/123 | 124/133
k1/k1Bre | 503 /559 | 543 /601 o0 D103
m / mBre 16 /23 42 /44
n / nBre 100/132 | 100/ 132
p/pBre | 100/87 | 100/87
www.nord.com G1000




SK 9022.1

SK 9022.1

290 1

kBre 1Br
k 161 161
40 ‘

T e———A ‘ M12

33

271
236
I
|
|

188
130
14
g

J
/
235 k6
=t
w o )

50

014 ‘:;8 ‘ Q‘W ‘

SK 9022.1AF

kiBre

292 g1Bre

[
\
N
U,
=
U
|

SK 9022.1AX

180

280

60 60

al b1 ci el f1 s1

250 180 16 215 4 4x14

SK 9022.1AFB(AXB) =01 A27

%
SIS

150

82 160
134 26
R
T:1 M12
>—‘<10 /7
/

246
|
835 kb
ob1 6
Qal

143

t o[ A45 63 S/L 71 S/L 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228
g1/91Bre | 115/123 | 124 /133 | 142/143 | 147/148 | 169/159 | 179/170
k1/k1Bre | 488 /544 |528/586 | 553 /617 | 594 /669 | 624 /715 | 647 /740
k / kBre 486/542 | 526 /584 | 551/615 | 592/667 | 622/713 | 645/738
m / mBre 16 /23 42144 47151 52 /56 58 /62 74178
n/nBre 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114/153
p/ pBre 100/87 | 100/87 | 114/108 | 114/108 | 114/108 | 114/108

=[J D103

&
W

D74 G1000

www.nord.com



SK 9022.1

SK 9022.1AZ

kiBre

k1

292

16,82

60

60

SK 9022.1AZEA

SK9022.1AZB =0 A27

SK 9022.1AZSH =01 A22

82

82

DIN 5480 N 8
0 9 By 0
o [ v s g
®$ ®$ I = I
[S] ﬁ'—l_.—-o— [
25| | 42 49 | | 25
155 44 =]
180 | © 2 = 2
” I R S
N40 x 2 x 18 x 9H o R - R} =3
SK 9022.1 AZD SK 9022.1 AZK
90" 5
135° o 4 82 82 14 T T
45 AT -+
\g @ % . - @ L
i\
e e =) [ oy 1= |
180 N, _D;, | t 1 = i
l =)\ e — ]
o 3 - — L
@ 0 L X S N ] g
fhths > :
[\ ©
225° @:K oh ~ g
@ al g L) i
270 56 916,5 63
60 45 561
60
+ o[ A45 | 63 SIL 71SIL 80 S/L 90 S/L 100 L 12 M
g 130 145 165 183 201 228
g1/g1Bre | 115/123 | 124/133 | 142/143 | 147/148 | 169/159 | 179/170
k1/k1Bre | 488 /544 | 528/586 | 553 /617 | 594 /669 | 624 /715 | 647 / 740 o) D103
m/mBre | 16/23 | 42/44 47/ 51 52/56 | 58/62 | 74/78
n/nBre | 100/132 | 100/132 | 114/153 | 114/153 | 114/153 | 114 /153
p/pBre | 100/87 | 100/87 | 114/108 | 114/108 | 114/108 | 114 /108
www.nord.com G1000 D75




SK 9023.1

SK 9023.1 SK 9023.1AX

kBre g1Bre

290 140 70!

IS

&

ﬁ

rin
N
=)
Y
Y

188
50 130
5\
22 ‘
=/
AN
44
i
TTTIITIITITT
[T
\ "
\ |
2q
271
236
T
]
@35 k6
140

30 214 38 g |
== 380 5 60 5 180
120 | l ‘ 140 I o1
60 SX:@ — 166 _| 78 S \ \
190 172 - — —
60 60
SK 9023.1AF SK 9023.1VF
k1Bre - -
“ 134 26
292
0 glBre 82 134 fﬂ q
e _
o 58 m n p 180 44 f M12

/

\ ¢ -
;B%?W _T (T 1 layel

_—
&
44
T
I
p
|
\ )
2g
i
\
]
2q
@40 H7
2b1 B
Dal
280
246
143
235 k
2b1 6
Qa

80 172 9@

60 60 a1l b1 cl el f1 s1

250 180 16 215 4 4x14

SK 9023.1AFB(AXB) =01 A27 180 — 24(23.5)

AT 1
”’”"'//"w-w,'/;,}
ANAAUUAANA AN AN SRRV AR 22

150

t o[ A45 63 S/L 71 S/L

g 130 145
g1/9g1Bre | 115/123 | 124/133 *
k1/k1Bre | 546/602 | 586 /644
k / kBre 544 /600 | 584 /642 =L D103
m / mBre 16 /23 42 /44

n/nBre 100/132 | 100/132
p/ pBre 100/ 87 100/ 87

D76 G1000 www.nord.com



SK 9023.1

SK 9023.1AZ

kiBre

292

58

2842 @
Mizs-
) N
\QJ 1 || |E =
SA |
e A=l
= =
| g8x121" 172
62,79 180
mFi \ [
e} o p—
85
(]
60 60
SK 9023.1AZEA SK9023.1AZB = A27 SK9023.1AZSH =1 A22 8 &
180 _ 24 69
DIN 5480 N MR 296
E 3\ < | s P e ]
QL ﬂ I ) Ll ey s ]
.m\\\\\\“\\\\\\\\\\\\“‘glfl/// (S %_l—-—-'_ S
155 | B 44 | 40| )
180 X WA A © = ©
| ===
N40 x 2 x 18 x 9H (—— — 1 § =3 -3
SK 9023.1 AZD SK 9023.1 AZK
90"
135° 45° 44 82 82 14 82 ;
0 >7<4
& @ 2 1 ), __a e
T
180“@ CD \hE’_‘:E H ’VQCD’} QW Ij‘ ‘H
= = 26 = I
ié% < — X R \ g =
995 °© b ﬁg ®§ %Tﬁ \ 5 N s
8 S =
270° " a6 16,5 63
e 45 56
00 60
+ o[ A45 63 S/L 71 SIL
g 130 145
g1/g1Bre | 115/123 | 124/133 *
k1/k1Bre | 546 /602 | 586 /644
=01 D103
m / mBre 16 /23 42 /44
n/nBre | 100/132 | 100/132
p / pBre 100/ 87 100/ 87
www.nord.com G1000 D77




SK 9032.1

SK 9032.1 SK 9032.1AX
kBre
k
319 90!
112
25 m n 100 100
51 -2
= M16 ﬁ'
o[l o]
82 <~ 4 @fjiea
T — 8
m,g | J J - & @
«© [T'e]
| 210
485 580 5
T ‘ ‘ 165 | 1135
iiz@ — 195 | 985 [
202
70 70
SK 9032.1AF SK 9032.1VF
97 196
ngre 97 150 f 150 46
E 210 s Dfﬂ M16
n == cl r
f | /
. D | /
—~ | 11 ‘ o
=l -3 |le %Iég 3 3 ] g:-iéé’
e o =]
L J_J .
210 Skl ‘ 485 5 80 5
200 g%@ —
[ I
/0 a1l b1 c1 el f1 s1
250 180 15 215 4 4x14
300 230 20 265 4 4x14
SK 9032.1AFB(AXB) =0 A27
|
Il
|
Il
b= L) A45 71 S/L 80 S/L 90 S/L 100 L 112 M 132 S/IM
g 145 165 183 201 228 266
gl1/9g1Bre | 124 /133 | 142/143 | 147 /148 169/ 159 179/170 | 204 /196 *
k1/ k1Bre | 563 /621 | 588 /652 | 629/704 | 659/750 | 682/775 | 768 /875
k / kBre 549 /607 | 574/638 | 615/690 | 645/736 | 668/761 | 754 / 861 =L D104
m / mBre 36/43 41 /45 46 /50 52 /56 68/72 711751
n/ nBre 100/132 | 114/153 | 114 /153 114 /153 114 /153 | 122 /185
p / pBre 100/ 87 114 /108 | 114 /108 114 /108 114 /108 | 122 /139
D78 G1000 www.nord.com




SK 9032.1

SK 9032.1AZ
k1Bre
k1
333
126 m n
;,%WSHH @
NI == il
e MI===2p
=

70

70

M10x16

335

180

300
—l

200

SK 9032.1AZEA SK 9032.1AZB =11 A27 SK 9032.1AZSH =11 A22 97 97
_ 210 25 76
DIN 5480 N 260
2 \ L g ! tH—=——"—"7="1a 9§ [~
8 S ) 3 [2ls ©
\\\\\\\\\\\\\\\\\\\\\\\‘Ih\“/// & A @_l—'_"_ =
23 49 49 23 170 46 50
e g EI—]
o 8| & 4
N50 x 2 x 24 x 9H =
SK 9032.1 AZD SK 9032.1 AZK
90° - Y
. 3
135 ﬁ . 397 97 18 |
45 5. 5
@ @ @/ | \ N
@ (L = |l I
[\/ == WQ<
4 o f L gl 8 g
— o
i [EERER g
[
270 P56 L
1601, 156]
60
+ o[ A45 71 S/L 80 S/L 90 S/L 100 L 112 M 132 SIM
g 145 165 183 201 228 266
gl1/g1Bre | 124 /133 | 142/143 | 147 /148 169/ 159 179/170 | 204 /196
k1 / k1Bre | 563 /621 | 588 /652 | 629/704 659 /750 682 /775 | 768 /875 =00 D104
m / mBre 36/43 41 /45 46 /50 52 /56 68/72 71151
n/ nBre 100/132 | 114/153 | 1147153 114 /153 | 114/153 | 122/185
p / pBre 100/87 | 114/108 | 114/108 114 /108 114/108 | 122/139
www.nord.com G1000 D79




SK 9033.1

245 kb6

—t=

180

SK 9033.1AX

VU"

ﬁ

©

len

&

SK 9033.1
kBre
k
319
12
>£5 60 m n
g - Al @
S i
2|2 @) X g = ) ) AE
Ll —] D) r | - ) 7 E ]
534447#3 I U "/ —’// ng
- e 45 gl |
150 | 485 5 ‘ 80 ‘ L 1es |1 135 |
o i% — 195 _| 985
230 202
SK 9033.1AF
kiBre
k1
333 5 150 f1
o glBre 0 s

ql

74

[T
p

g
i
\

@gq

b1 j6
Dal

335

300

SK 9033.1AFB(AXB) = A27

al b1 el f1 s1
250 180 215 4 4x14
300 230 265 4 4x14

SK 9033.1VF

210

\ \
70 70
196

46
LA

f1 M16
>—‘<1C /7

—

180

b1 6
Dal

245 kb

4> L0 A45 63 S/L 71 S/L 80 S/L 90 S/L
g 130 145 165 183

g1/g1Bre | 115/123 | 124/133 | 142/143 | 147/148

k1/ki1Bre | 589/645 | 629/687 | 654 /718 | 695/770
k / kBre 575 /631 615/673 | 640/704 | 681/756
m / mBre 16/23 42144 47151 52 /56
n/nBre 100/132 | 100/132 | 114/153 | 114/153
p/ pBre 100/ 87 100/ 87 114/108 | 114/108

*

=L D103

D80

G1000

www.nord.com



SK 9033.1

SK 9033.1AZ

k1Bre

ki

333

60

1

17,86

74
—

SK 9033.1AZEA

-]

[T T

T

o

70

70

M10x16

SK9033.1AZB =r A27

210

—

200

SK 9033.1AZSH =01 A22

76

DIN 5480 N 250
| o BE e
2 \ L s - Ion 3
& = 7| E— = S I e A = B
L J i \\\\\\\\\\\\\\\\\:@g\%}%’} gA %_I_-—J_*g §*
23 |_49 49 23 170 _ . 50
187
210 S A NN € = €]
T 2 i 2
N50 x 2 x 24 x 9H =
SK 9033.1 AZD SK 9033.1 AZK
90°
125 45° 53 9797 18
\@ &) @/ \,
. (AN |
180 @ > L
3/ ! 22]) < |
== o % 1
ég —l_ e} - ‘
— [aN)
° o
225 o A =]
o (S
270 (56 216,5
60 52,5
4> ) A45 63 S/L 71 S/IL 80 S/L 90 S/L
g 130 145 165 183
gl1/9g1Bre | 115/123 124 /133 | 142/143 | 147 /148 *
k1 /k1Bre | 589/ 645 629 /687 | 654 /718 | 695/770 o[ D103
m / mBre 16/23 42/ 44 47/ 51 52 /56
n/ nBre 100/132 100/132 | 114/153 | 114 /153
p / pBre 100/87 100/ 87 114/108 | 114/108
www.nord.com G1000 D81




SK 9042.1

SK 9042.1

kBre

379

30

290
220

77

N
N = ]
/) 8 = S| B

SO JFE )

il |
2 180 ‘> 022 64,0 10 100 10
| 80| » ‘L—J
260

g1Bre

M20

960 m6
—t—t=

212

SK 9042.1AFB(AXB) = A27

?aol

400
357

al

b1 @il

350

250 20

SK 9042.1AX

Jor

=
I
len

108 240

Qal

; 64,0 10 100 10

250

g

o (1] Ad5 90 SIL 100L | 112M | 132S/M | 160 ML
g 183 201 228 266 320

g1/g1Bre | 147/148 | 169/159 | 179/170 | 204/196 | 242 /242 Q?

k1/KkiBre | 677/752 | 707/798 | 730/823 | 816/923 | 893/1072

k/kBre | 655/730 | 685/776 | 708/801 | 794/901 |871/1050 = D105

mimBre | 26/30 | 32/36 | 48/52 | 51/44 | 52/52 a

ninBre | 114/153 | 114/153 | 114/153 | 122/185 | 186/186

plpBre | 114/108 | 114/108 | 114/108 | 122/139 | 186/186
D82 G1000 www.nord.com



SK 9042.1

SK 9042.1AZ
kiBre
k1

401 7 108

x20™ @ M12x20

ﬁ

DL -
= MJJF@ -

23,27
o

400
357
217
—

U
| 212x20™" 250
240
gﬁ i s i
S1 g
80 80
SK 9042.1AZEA SK9042.1AZB = A27  SK9042.1AZSH = A22 08 108
95
DIN 5480 N 305
S Llg ! o P—m—onr ] o
SL ] ] ﬂ Il 8A [ ] 8 g S ]
S e
25| | 58 58| | 25 % 60
215 | . == .
240 © < —— C
,, ===t
NG5 x 2 x 31 x 9H - S =S
SK 9042.1 AZD SK 9042.1 AZK
90° 108

Il

135 @\ i5° 57 108 108 20 1

e @ \ . B
| ~ e =
~€ W e | ) €]

\\%)

!
—
300
217
— T/
300

Yo}
i@% S \, S
o S 0
(iIESINER A SR :
° ]
270 I 05 o
100 50 172]_
80
+ o[ A45 90 S/L 100 L 112 M 132S/M | 160 M/L
g 183 201 228 266 320
gl/giBre | 147/148 | 169/159 | 179/170 | 204 /196 | 242 /242
k1/k1Bre | 677/752 | 707/798 | 730/823 | 816/923 | 893 /1072 = D105

m / mBre 26/30 32/36 48152 51/44 52 /52
n/nBre 114 /153 | 114/153 | 114/153 | 122/185 | 186/ 186
p/pBre 114/108 | 114/108 | 114/108 | 122/139 | 186/ 186

g

www.nord.com G1000 D83



SK 9043.1

SK 9043.1 SK 9043.1AX
kBre g1Bre
K 240 ‘ 240
379 180 120!
132 115 =3 15115
32 69 m n ‘ s '% s
2 ~ ©) \ i V20
~ — A\
7S TR [E
45 S =Y e = H -
™ [ Ei E o h S
g St =\ 1] =
Ry D) = = L& E - @ @
Rl o] J_ teeii=h
55 | a2z [50 el 240
=0 | 64,0 10‘ woo‘ 10 o T T
|89 | ® — 220 _|_130 |
260 250 4
80 80
SK 9043.1AF SK 9043.1VF
k1Bre
W 108 240
401 165 75
108 168 i
154 g1Bre I o f
S 69 m__ n o 1:0 o >,:cw 120
T ) | ]
PNV 52 | g
d ~ i I I i Sas
\ J 5 |8 = - g8% €5 | g8
S g o | |8 L S ~ |
N JH E E H S ‘
I =
J et w 64,0 10 100 10
240 250 ©
[
80 g al | b1 | ¢ | el | f1 | s
350 250 20 300 5 4x18
SK 9043.1AFB(AXB) =1 A27
|
Il
|
]
+o [0 Ad5 71 SIL 80 S/L 90 SIL 100 L
g 145 165 183 201
g1/g1Bre 124 /133 142 /1 143 147 /148 | 169/ 159 *
k1 / k1Bre 700 /758 725 /789 766 / 841 796 / 887 {
k / kBre 678/736 | 703/767 | 724/799 | 754/845 <[l D104
m / mBre 36/43 41/45 46 /50 52 /56 a
n/ nBre 100/ 132 114 / 153 114 /153 114 /153 .
p / pBre 100/87 114 /108 114 /108 114 /108

D84

G1000

www.nord.com




SK 9043.1

SK 9043.1AZ
kiBre
k1
401
154
69 m n
@QLZOH“ @
M=
SHEZ N h "
&J il = dJl |s
|y =
=2 [l ] S
_[g12x0"
104,95 240
,77‘ ‘,7
80 80
SK 9043.1AZEA SK 9043.1AZB =10 A27

—

DIN 5480 N

—

240 _29

Aaa s AN

V i s

@70
:‘
N 270

/
T
\\\\\\\\\\\\\\\\\\\\\\\wm(///

"J,},}I

,,%?’IJ

25| | 58 58 195
215
240 I N A
NG5 x 2 x 31 x OH I m%%

SK 9043.1 AZD
90°

135° ﬁ 45°

& _ oW 5

108 108 20

_M12x20

250

SK 9043.1AZSH =01 A22

95

0
2182

@60 H7

7260 h6
-
\
\
|
|
60 h6
—t=

SK 9043.1 AZK

wa@ (@) = |
KJ i’—‘i H 42
o= T =
| — (=)
— N
2 g
205° T ihs 2 ¢
: s g
270 97
_1100[,
+o (1) A5 71 SIL 80 S/L 90 S/L 100 L
g 145 165 183 201 T
g1/ g1Bre 124 /133 142/ 143 147 /148 169/ 159 #
k1 / k1Bre 700/758 7251789 766 / 841 796 / 887 o[ D104
m / mBre 36/43 41/45 46 /50 52 /56 =
n/ nBre 100/132 114 /153 114 /153 | 114/153
p / pBre 100/ 87 114 /108 114 /108 114 /108 ;
www.nord.com G1000 D85



SK 9052.1

85

SK 9052.1 SK 9052.1AX
kBre q1Bre
K 291 | 291
460 240 140
160 145 I[s
38 m n ‘
3 . = M20
oo
QEE N ‘ &
o — ~|w|l 0 E
g = e = e 58 = g
) j [Tel
I J ) &
1 i

b I Y
026 745 15 110 15 70 a_|
— ‘ ‘ 240 |1 171
81:@ — 285 | 1485
290
SK 9052.1AF SK 9052.1VF
kiBre
» 141 291
18 201 90
gw ke 141 201 1 -
9 300 51 = v20
>,‘<101
0 ]
Y1l §Ié S &5 I=ESER
o~
E H 9
L e w 745 15 11015
i
al b1 cl el f1 s1

400 | 300 20 350 5 4x18

450 | 350 16 400 5 8x18

SK 9052.1AFB(AXB) =L A27 =
287,75(287,85)

SaaawsaaaweeenANNNAN

2]
ez

SIS

255

* =1 A45 90 S/L 100 L 112 M 132 SIM 160 M/L | 180 MX/LX
g 183 201 228 266 320 358
g1/9g1Bre | 147/148 | 169/159 | 179/170 | 204/196 | 242/242 | 259/ 259 *
k1/k1Bre | 763/838 | 793/884 | 816/909 |902/1009 | 979/1158 | 1107 /1212 ’
k / kBre 736/811 | 766/857 | 789/882 | 875/982 | 952/1131 |1082/1187
m / mBre 26 /30 32/36 48 /52 51/44 52152 93/78 “
n/nBre 114 /153 | 114/153 | 114/153 | 122/185 | 186/186 | 132/162 ‘
p/ pBre 114/108 | 114/108 | 114/108 | 122/139 | 186/186 | 152/162

=L D105

D86 G1000 www.nord.com



SK 9052.1

SK 9052.1AZ

kiBre

11,75 111,75

M1><ZO
I 7=\
N N A
= [/ & )l
= e W )y
— @230 6 2 3
o B 212x20™ »
=H=
290
100
SK 9052.1AZEA SK 9052.1AZB =00 A27 SK 9052.1AZSH = A22
4
5
DIN 5480 N 380
| g BE |~ ~
2 \ . ‘ 2 T 8 ™
2| I ===
== N
25| | 72 72 25
275 74 | 70|
300 ' o e - @
et T
N70 x 2 x 34 x 9H S = &
SK 9052.1 AZD SK 9052.1 AZK
20° R 1
135° o 4 141 1 22 s
45 5 L ><51
@ a i@z N L
180°@§ <> DS | ‘ = # T
= = 42 |) =
‘\ — L il 3 Lm_L UO)
& vk :
o™ o
225 ° ﬂh— S = = L g
. J e —
270 g 106
100 70 92|
100
+ o[ A45 90 S/L 100 L 112 M 132S/M | 160 M/L | 180 MX/LX
g 183 201 228 266 320 358 0
g1/g1Bre | 147 /148 | 169/159 | 179/170 | 204/196 | 242/242 | 259 /259 !
k1/k1Bre | 763/838 | 793/884 | 816/909 |902/1009 | 979/1158 | 1107 / 1212 o( D105
m / mBre 26/30 32/36 48/52 51/ 44 52/52 93/78 ’
n/nBre | 114/153 | 114/153 | 114/153 | 122/185 | 186/186 | 132/162 a
p/pBre | 114/108 | 114/108 | 114/108 | 122/139 | 186/186 | 152/162 ‘
www.nord.com G1000 D87




SK 9053.1

SK 9053.1 SK 9053.1AX
kBre g1Bre
k 291 291
460 240 140
160 [125 | 6
38 69 n i 145_ 145
| 5 5
"'f,-).) @ ‘ | == ==
el T A\ M20
m%;g = \ rrﬁi i o iq}
e () NN Ty == £
8 & N = ||| |E g o 1Y T l& S
= B Y |® 2
s—F = s ] e ® &
R e Iy St ) T
» |
75 ||| loos s 15 10 70 g | 300
240 | ‘ 240 |1 47
100 QX:@ 285 | 1485 | — —
330 290
100 100
SK 9053.1AF SK 9053.1VF
k1Bre
ki 141 291
485 - “ 201 _ 90
185 g1Bre = f1
300 51 ]
x 89 _m__ n ol ] | 0
. n ! b /
/T/g\« [l /
iz 2 ~ o ! ©p ©
Zl \ N - B I ‘ N ola B
o\ J =l | e 89 5 | SEE
= = o _{ S U I = o~ !
= JU = = H g ‘
L o \ 745 15 110 15
300 290 |
gl = i
e
S al b1 cl el f1
100 100
400 300 20 350 5 4x18
450 350 16 400 5 8x18
SK 9053.1AFB(AXB) =01 A27
\\\\\\\\\\\\\\\\\\\\\(\w‘gl://'///
* o[ A45 71 S/IL 80 S/L 90 S/L 100 L 112 M
g 145 165 183 201 228
g1/g1Bre 124 /133 142 /143 147 /148 169 /159 179/170 *
k1 / k1Bre 786 / 844 811/875 | 852/927 | 882/973 905 /998 !
k / kBre 759 /817 784 | 848 825 /900 855 /946 878 /971 =L D104
m / mBre 36/43 41/45 46/ 50 52 /56 68/72 B
n/ nBre 100/132 114 /153 114 /153 114 /153 114 /153 g
p / pBre 100/ 87 114 /108 114/108 | 114/108 114 /108
D88 G1000 www.nord.com



SK 9053.1

SK 9053.1AZ

k1Bre

[T

300

100

SK 9053.1AZEA

DIN 5480 N

479

SK9053.1AZB =00 A27

290

SK 9053.1AZSH =

71,19

111,75 M,75

71,19

m A22

ﬁ 380
o [T T e s Pl
2L & SIS
_l_,_.l_*®
25| | 72 72| | 25 R = |
275 74 1 70|
300 2 —
S FIT—TCF ¢
N70 x 2 x 34 x 9H S ="
SK 9053.1 AZD SK 9053.1 AZK
90°
° . 141 141 22
135 45 o
% n @g/
4 ‘
wso“@ ) hz E
N IR
T :
fe)
& o
intd gl
[
° )
270 I
100 70
+ o[ Ad5 71 SIL 80 S/L 90 S/L 100 L 112 M
g 145 165 183 201 228
g1/g1Bre | 124/133 | 142/143 | 147/148 | 169/159 | 179/170 *
k1/kiBre | 786/844 | 811/875 | 852/927 | 882/973 | 905/998 : 0 o
= D104
m / mBre 36/43 41/45 46 /50 52 /56 68/72 _
n/ nBre 100/132 | 114/153 | 114/153 | 114/153 | 114/153 *
p / pBre 100/ 87 114 /108 | 114/108 | 114/108 | 114/108 '
www.nord.com G1000 D89




SK 9072.1

SK 9072.1 SK 9072.1AX

kBre

568 (5501)

VU’\
A

] %
len

30

3—q
s

= M24
w0
sg z & @
< | & E
| O == T T
38 8| 3 g
N w0
B " = B
&
E— - -
170 g | 350
270 |1 212 . T |
330 | 182 8 %gi o
350 = g
95,4(85,4) 120 120
SK9072.1AF SK 9072.1VF
k1Bre
R 165 345
586 (568 ) glBre P, 227 _ 118
218 L 350 52 —="
s1 m n

2al

@al
564
509

\\
.
N
\

= 350 g@ —
& S | — |
e 8=
g
95,4(85,4) 120 120 at b1 cl el i s1
450 | 350 22 400 5 8x18
550 | 450 28 500 5 8x18
SK 9072.1AFB(AXB) = A27
[
I
I
Il
+ o[ A45 100 L 112 M 132s/M | 160 M/L" | 180 Mx/LX"| 200 L" 225 S/M"
g 201 228 266 320 358 398 398
g1/g1Bre | 169/159 | 179/170 | 204/196 | 242/242 | 259/259 | 306/306 | 306 /306 ; '
k1/k1Bre | 892/983 |912/1005| 1021 /1128|1060 /1239 | 1170/ 1275 | 1255/ 1422 | 1255 / 1422 4
k/kBre | 874/965 | 894 /987 | 1003 /1110|1042 /1221| 1152/ 1257 | 1237 / 1404 | 1237 / 1404
m/mBre | 32/36 45149 71/64 52/52 93/78 110/110 | 110/110 i~
n/nBre | 114/153 | 114/153 | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 )
p/pBre | 114/108 | 114/108 | 122/139 | 186/186 | 152/162 | 260/260 | 260 /260
D90 G1000 www.nord.com




SK 9072.1

SK 9072.1AZ
k1Bre q1Bre
k1 gl
586 (5681) 5 165 165 5
218 m__n s 5 126,51 126,51
o _M16x25
e —tE)_ Ho)
3 =<1 |® H 2
A\ = a i)
L m Aj J J ’. mg_xHLOIHn
350 350
~
— u
N (=] Ry ‘
o~ N o] HE—"——"——
¥ i3
= 8
(S
95,4(85,4) 120 120
SK 9072.1AZEA SK9072.1AZB = A27 SK 9072.1AZSH =1 A22 65 165
DIN 5480 N 430 ‘
= =
| B T,
g | \y | &) g———Tdg/§ §
I 2 AP
sl — &'t
26 1100 100| | 26 ® S
94 | N e 82 80 o
350 = | |
g SET—T{§
N85 x 3 x 27 x 9H I mg% ) =3
(] (]
SK 9072.1 AZD SK 9072.1 AZK
90° — 185
5
135 @ 45 55 165 {65 24 5
@g @4@} = I,
wso“@ N = ‘ g i
7 el B4 1 Tel . =
g " = 3
& — ~ 2
o0}
225° -'IH.'- o= = (=] L"\‘) =
- g g - =
270° L 925 126
100 74 lo2]
100
+ o[ A45 100 L 112 M 132s/M | 160 M/L" | 180 Mx/LX"| 200 L" 225 S/M"
g 201 228 266 320 358 398 398 -
g1/ g1Bre | 169/159 | 179/170 | 204 /196 | 242/242 | 259/259 | 306/306 | 306 /306 .
k1/k1Bre | 892/983 | 912/1005 1021/ 1128|1060/ 1239 | 1170 / 1275 | 1255 / 1422| 1255 | 1422 >0 D106
m/mBre | 32/36 45/ 49 71164 52 /52 93/78 110/110 | 110/110 2
n/nBre | 114/153 | 114/153 | 122/185 | 186/186 | 132/162 | 192/192 | 192/192
p/pBre | 114/108 | 114/108 | 122/139 | 186/186 | 152/162 | 260/260 | 260 /260
www.nord.com G1000 D91




SK 9082.1

SK 9082.1

kBre

725 (7051 7332)

709

M24

@110 m6
=t

375

2 |
>

°

SK 9082.1AX

200

420

~
395 | 221 Eﬁiii‘*
450 g 4
140 140
SK 9082.1AF SK 9082.1VF
k1Bre
Kl 195 420
zzgo (7201 7482) 315 tss__ 257 i 257 165
st m n e A7 >,Ecw M24
ﬁ ‘ r
1 *&% n ‘ I /
o | A" T
/ \\ — i f © < ! E —| o
\ ¥ =- < SRS S o & 8
v = : :
. Nl = 2
&\ g5 JFE J_J -
|
—=cl ] 116 15 180 15
w el =
[ [
140 140 a1 b1 cl el 1 s1
550 | 450 28 500 5 8x18
SK 9082.1AFB(AXB) = A27
[
Il
I
Il
+oA45| 132S/M | 160 M/L | 180 MX/LX| 200 L 225S/M | 250 M" | 280S" 280 M?
g 266 320 358 398 398 495 555 555
g1/ g1Bre| 204 /196 | 242/242 | 259/259 | 306 /306 | 306/306 | 392/392 | 432/432 | 432/432 :
k1 / k1Bre| 1175/ 1282(1232 / 1411| 1"42 | 1447 | 1427 / 1594|1427 / 1594|1480 / 1730| 1550 / 1730| 1568 / 1858 d
k/kBre |1160/1267|1217/1396|1"27 / 1432|1412/ 1579|1412/ 1579|1465/ 1715|1535/ 1715 | 1553 / 1843 =D107
m/mBre | 71/64 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144 /144 | 144 /144 %
n/nBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 .
p/pBre | 122/139 | 186/186 | 152/162 | 260 /260 | 260/260 | 300/300 | 300/300 | 300 /300
D92 G1000 www.nord.com



SK 9082.1AZ

k1Bre

k1

740 (720" 7482)
240

M16x25

147,59 147,59

94,03

94,03

@16x30
=—H=
|
450
SK 9082.1AZEA SK9082.1AZB =M A27  SK9082.1AZSH =m A22 195 195
;
134 8
DIN 5480 N 500 B |
=) 1 ]e [ >~ BH — T o
SRSl E— e §
: STEg—— 1%
60 90 90 60 74 80
360 | ©W == ©
420 © < ==
I e %i
N105 x 3 x 34 x 9H | I S = 8] =5
195
SK 9082.1 AZK 1
8
. gl
50 e 1 3
L \ _
NN | 0 h 4 =
.7 S% NI /" Fo=23.64 kn \ S
—= " =AY sumiss o -
— S 4L Gi-vson260 3O>,<‘
17 ik
+ o A45| 132S/M | 160 M/L | 180 MX/LX| 200 L 225 SIM 250 M" 280 s" 280 M?
g 266 320 358 398 398 495 555 555 ;
g1/g1Bre| 204 /196 | 242 /242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 *
k1 / k1Bre |1175/1282| 1232/ 1411 | 1"42 /1447 | 1427 /1594 | 1427 /1594 | 1480/1730 | 1550/1730 | 1568 / 1858 . 0 b6
= 7
m/mBre | 71/64 | 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144 /144 | 144 /144
n/nBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236 /236
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300 /300
www.nord.com G1000 D93




SK 9086.1

SK 9086.1 SK 9086.1AX
kBre g1Bre
k 457 ‘ 457
751 (73117599 420 210
250 [23 L,<9
%0 " . ﬁ 238 238
2L
. =
I7e) M24
- M T
] o 8ld =TT -
— —_ \ = L
= —\ 3
o J i ~ @& E
B ‘ r— 500
127 15 180 15 100 L o]
= ‘ 420 |1 247 o = i ;
%@ = | so0 | 207 ] gH —— L
476 S
140 140
SK 9086.1AF SK 9086.1VF
k1Bre
W 235 460
22566 (7461 7742) lere 235 5 ﬁ” 315 14;)
500 65 Df M24
m n == cl
0. w /
= - g8 g ‘ =g 2
el S S 0| X IS
— o <
= {
J
|
=Hoel ] 127_15 180 15
500 486 g@ —
[ I
160 160 al b1 ci el f1 s1
660 550 32 600 6 8x22
SK 9086.1AFB(AXB) =1 A27
|
L \\\\\\\\\\W:\I\\\(\w‘gE/}///,j
440
|
Il
+ o) A45| 132 S/M| 160 M/L | 180 MX/LX| 200L | 225S/M| 250 M" | 280S? | 280 M? | 315S?| 315 M?
g 266 320 358 398 398 495 555 555 610 610
g1/ gi1Bre| 204/196 | 242 /242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/— | 500/— ; '
k1 / k1Bre [1201 /13081258 / 1437|1368 / 1473|1453 / 16201453 / 16201506 / 1756(1576 / 17561694 / 1884/ 1706 / — | 1866 / — ]
k / kBre [1186/12931243 /14221353 /1458|1438 / 16051438 / 16051491/ 1741|1561 / 174111579 / 1869 1691 /—| 1851 /— = D107
m/mBre | 71/64 52/52 93/78 110/110 | 110/110 | 129/129 | 144 /144 | 144/144 | 132/- | 132/-
n/nBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— | 307 /-
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/—
D94 G1000 www.nord.com



SK 9086.1

SK 9086.1AZ
k1Bre g1Bre
k1 ql
766 (746‘) 7742 7 235 235 7
265 m__n I g 168,68 168,68
M20x30
.~ @ B — o
WSS , | S
| GA - // T
|
] | | 1] /e
. H (o))
N h o €\
L u ) B
— — ‘ T p16x30™
o~ o) ‘ o
500 486
T
H i i
N
S
160 160
SK 9086.1AZEA SK9086.1AZB = A27  SK9086.1AZSH =1 A22 035 235
;
8
DIN 5480 N 602 ‘
< = Q ©
5| AL = o f—F—F a8 &
I L ) 5 FS 1S
\\\\\“\\\W\\\\\\\\“h\\(f// S E_'—'_"_ =
60| | 110 110| | 60 440
= — 98 80
T s £ =
= R ] S m——
N130 x 5 x 24 x 9H I mg% S =&
(S
_ 235
SK 9086.1 AZK
[} J
F, Fp =30,77 kN \
‘ Sp=17,6 mm
dx1 =M30x260 401
| 5
1185
+ 200 A45 | 132 S/M | 160 M/L | 180 MX/LX| 200L | 225S/M | 250 M" | 280S" | 280 M? | 315S? 315 M?
g 266 320 358 398 398 495 555 555 610 | 610 .
g1/ g1Bre| 204/196 | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/—| 500/— *
k1 / k1Bre |1201 / 13081258 / 1437, 1368 / 1473 |1453 / 1620| 1453 / 1620|1506 / 1756 [1576 / 1756|1594 / 1884|1706 / —| 1866 / — ; (0 D107
m/mBre | 71/64 | 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144/144 | 144/144 | 132/—| 132/- _
n/nBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307 /- | 307 / —
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/— ‘
www.nord.com G1000 D95




SK 9092.1

SK 9092.1

g1Bre
kBre
555 | 555
k ‘ 480 ‘ 250
905 (92118942 295 110
- 315 m n M24
Q 3 @ ) ‘
S Q%% A\
o = N \ — = ©
Q Q o f(\ H — g Ire) ﬁii)}z‘ Ei
Sl —olB= 1 — L= By I — <
& o || || 3
i T ) J J S 3]
ol I [T $ % g
=gl 200 033 95 | o
50| | || 40l | 480 |1 315
bWOO 130 148 15220 15 570 U 270
270 590
540 S
670
SK 9092.1AFS SK 9092.1VF
kiBre
K 288 555
901 (9171 8902) q1Bre 7 oas 168 " 368 187
I 710 63 >f”
M24
h ==
—n /
: /
Iy e 0, LLO
| R R =L EE
Q
o
3
=l 148 15 220 15
590 < —
~ ~
ol T Tio
Fl——r
© = at b1 cl el 1 s1
98 100
660 550 32 600 6 8x22
SK 9092.1AFSH =10 A22
710
= ﬁ_lh\_ E <
T — S 3
ie===r
= %_I_-—J_*g =
98 100
2 2
s FT———1 3
= =—3
+ o7 A45 | 160 M/L | 180 MX/LX| 200L | 225S/M | 250 M" | 280S? | 280 M? | 315S? | 315 M?
g 320 358 398 398 495 555 555 610 610
g1/g1Bre | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/— | 500/— 5
k1 / k1Bre | 1393 /1572| 1503 /1608 [1588 / 1755|1588 / 1755|1677 / 1927 | 1747 / 1927 |1710/2000| 1822 /- [1982/— J
k / kBre |1397/1576| 1507 /1612 1592 /1759|1592 /1759|1681 /1931| 1751/1931 [1714/2004| 1826 /— | 1986 /— = D107
m / mBre 52 /52 93/78 110/110 | 110/110 | 129/129 144 /144 144 /144 | 132/— | 132/- 1
n/ nBre 186/186 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— | 307/- 4
p / pBre 186 /186 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/—

D96

G1000

www.nord.com



SK 9092.1

SK 9092.1AZS

q1Bre
k1Bre g1
k1 7 288 | 288 7
901 (91718909 110 0 >\ 168,68 168,68
MOO
| % 4
N Y = 5 28
o | B . (i f)) ‘
a | g mg [S] J - \\\\ ]
3 R i 5 NI
J ’. L opex30™ \d
=H=
86 590
~ ~ o | |
ol T Tro
Fi=mener:
= =
98 100
SK 9092.1AZEA SK 9092.1AZSH =11 A22 288 288 ;
10
DIN 5480 N 710
2 ‘ = - ﬁ_l—\—\_,'i SL s
S| | x TS sl b—F— T %ig 3
sSiEg—— =T
60 | 120 120| | 60 98 00
550 © ——= ©
510 = 4‘»77{7 3
s Sy
N140 x 3 x 45 x 9H
288
SK 9092.1 AZSHK
(]
O
[Te]
5% o Nl Fo=45.71
— ME S =26,2 mm
<
< dl dxl =M30x260
56
80
+ =0 A45 | 160 MIL | 180 MX/LX| 200 L 225S/M | 250 M" 280s? | 280 M? | 3158?| 315 M?
g 320 358 398 398 495 555 555 610 610 |
gl/giBre | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/— | 500/— !
k1 /k1Bre |1393/1572|1503 /1608|1588 /1755|1588 /1755 | 1677 / 1927 | 1747 / 1927 [1710/2000 1822/— | 1982 /— o[ D107
m/mBre | 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144/144 | 144/144 | 132/— | 132/— _
n/nBre | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— | 307/—
p/pBre | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/— '
www.nord.com G1000 D97



SK 9096.1

SK 9096.1
kBre g1Bre
k 657 | 657
960 (975") 540 320
'326,5 | 10,5
50 2o " . fﬂ—% == M30x60
B e @ L /7
7 — = 1) B S \: i ] “éi
— —— S| o| [& T =[S
= = e IR 1 e
] SR B i I §
o FLis
\ ‘ o
110 ql
540 |1l 387
20010300 10 640 | 337
653
SK 9096.1AFS SK 9096.1VF
k1Bre
y 320 657
949 (964") 918re 65 320 410 1 Mo 247
344 el I 804 173 ==" M30x60
st m n ﬁ‘ —=cl X
\@\ .. - /
K> ) | T e /@ 2
= YTl 8 (== e = g -1t ol 2|8
— — ol 4 S NS - =
—] ‘ ‘ - =
- ‘ E ‘ 3
J L/ ;
I
! e 200 10 300 10
804 B
653 Q@ T T
r~ |~
of T Tio
(o] (=]
5{@15 §@
= S al b1 cl el f1 s1
129 95
660 550 32 600 6 8x22
320 320 65
SK 9096.1AFSH =1 A22 o5
185 7
804 r‘
PR s |
8l — ] @ig S| T
sieg—— °'7 i
129 95 ‘
o = e |
B —#————{——— 3
S =3
* o[ A45 | 160 M/L | 180 MX/LX| 200L | 225s/M | 250M"” | 280sS” | 280m” | 315S" |315Mm"
g 320 358 398 398 495 555 555 610 610 :
g1/9g1Bre | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/—- | 500/— &
k1 / k1Bre |1441/1620| 1551/ 1656 |1636 /1803|1636 / 1803|1723 /1973| 1793 /1973 |1783/2073| 1895/— |2055/— p
k/kBre |1452/1631|1562 /1667 [1647 /1814|1647 /1814|1734 /1984 | 1804 / 1984 |1794/2084| 1906 /— | 2066 / — = D107
m/mBre | 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144/144 | 144/144 | 132/— | 132/—
n/nBre | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— | 307/-
p/pBre | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/—
D98 G1000 www.nord.com



SK 9096.1

SK 9096.1AZS

glBre
kiBre ql 250
k1 65 320 | 320 6,5
949 (9641) 140 10,51 176,8| 204,8
n 46
I " o -
g Z N
N N o — N —
—J 3 ] - \
- S| w© S
- é al}— g - g <
= S B 2 s <
J ~ gosx35t =
=H=
B 204,81176,8
~ 250
Lo
‘%@
(]
129 95
SK 9096.1AZSH =11 A22 320 320 65
10,5
804
= @—l——\_ =
T T =8 g
sl —— 8§ &
= E—\_—;f® ES
129 95
© L e
] ———1—1 8
s =— 37
SK 9096.1 AZSHK <6,5
11095
- |
150 © \ S
— H (o]
< o | & : i %
e
<F_D>g ;%; %% p NI/ SFD:gg,(S)ES kN \ %
A~ SO S0 o
Z0 1 3 b G —Masxs20 50>7<‘
_'s0 | 45
170 1140
+ 0 A45 | 160 ML | 180MX/AX| 200L | 225S/M | 250mM™" | 280S” | 280M " | 3158"(315M"
g 320 358 398 398 495 555 555 610 610
g1/g1Bre | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/— | 500/— ”E
k1/k1Bre | 1441/1620| 1551/ 1656|1636/ 1803| 1636/ 1803 | 1723 /1973 | 1793/ 1973 1783 /2073 1895 /— | 2055 /— o[ D107
m/mBre | 52/52 93/78 | 110/110 | 110/110 | 129/129 | 144/144 | 144/144 | 132/— | 132/— _
n/nBre | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— | 307/—
p/pBre | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/— | 380/— '
www.nord.com G1000 D99




SK
SK

9072.1/32-
9092.1/52

qA Bre g1Bre
gA g
¢z m_
| -
)
_ j g J[
E _J
+ o (1) Ad5 SK 9072.1/32
71S/L | 80SIL | 90S/L | 100L | 112M |132S/M
g 145 | 165 | 183 | 201 228 | 266 *
g1/ g1Bre 124 / 133142 / 143147 / 148/169 / 159179 / 170204 / 196 !
m/mBre | 36/43 | 41/45 | 46/50 | 52/56 | 68/72 | 71/64
n/nBre |100 /132114 /153/114/ 153114 / 153114 / 153/122/ 185 E D104
p/pBre | 100/87 [114/108/114/ 108114/ 108114 / 108/122/ 139 a
h2 155 “
oz 237 |
gA | gABre|467 / 525492 / 556/533 / 608|563 / 654586 / 679/672 / 779
SK9072.1 (D DY0-91
+ o (1] Ad5 SK 9072.1/42 SK 9082.1/42
90S/L| 100L | 112M | 132S/M| 160 MIL| 90S/L | 100L | 112M | 132 S/M| 160 M/L
g 183 | 201 | 228 | 266 | 320 | 183 | 201 | 228 | 266 | 320 :
g1/ g1Bre 147 / 148169 / 159179 / 170|204 / 196226 / 226/147 / 148/169 / 159|179 / 170|204 / 1961226 / 266 r”i
m/mBre | 26/30 | 32/36 | 48/52 | 51/44 | 52/52 | 26/30 | 32/36 | 48/52 | 51/44 | 52/52 '
n/nBre |114/153[114/153 114/ 1531122 / 185/186 / 186114 / 153114 / 153|114 / 153122 / 185/186 / 186 S0 D105
p/pBre |114/108114/108/114 /108122 / 139/186 / 186114 / 108114 / 108/114 / 108122 / 139|186 / 186
h2 175 175 *
az 279 260 .
gA | gABre|555 / 630585 / 676/608 / 701/694 / 801771/ 950/536 / 611566 / 657|589 / 682/675 / 782/773 / 952
SK 90721 (0 D90-91 SK9082.1 (1) D92-93
+ o> (11 Ad5 SK 9082.1/52, SK 9086.1/52 SK 9092.1/52
90 S/L| 100L | 112M | 132 S/M| 160 M/L| 180MX/LX 90 S/L | 100L | 112 M | 132 S/M| 160 M/L| 180 MX/LX
g 183 | 201 | 228 | 266 | 320 | 358 | 183 | 201 | 228 | 266 | 320 | 358 ;
g1/ g1Bre| 147 /148 169/ 159|179/ 170|204 / 196|242 / 242| 250/259 | 147/ 148|169/ 159|179/ 170|204 / 196| 242/ 242| 259259 r”i
m/mBre | 26/30 | 32/36 | 48/52 | 51/44 | 52/52 | 113/98 | 26/30 | 32/36 | 48/52 | 51/44 | 52/52 | 93/78 '
n/nBre |114/153|114/ 153|114/ 153/ 122/185/186/ 186| 132/162 |114/ 153|114 /153114 /153[122/ 185/ 186/ 186] 132/162 | =0 D105
p/pBre |114/108|114/108|114/108/122/139186/186| 152/162 |114/108|114 /108|114 /108| 122/ 139|186/ 186| 152/162
h2 212 212 a
oz 300 300 -
qA | gABre|596 / 671606 697|629/ 722|715/ 822] 792/ 971| 922/ 1027 | 576 /651|606 /697|629 / 7221715 / 822| 792/ 971 | 922/ 1027
SK 90821 [ D92-93, SK9086.1 <[l DY4-95 SK9092.1 (0 D96-97
D100 G1000 www.nord.com




SK 9096.1/62
SK 9096.1/63

gA Bre g1Bre
ol
+ o[ A45 SK 9096.1/62
100 L 112 M 132 S/M | 160 M/L |180 MX/LX| 200L 225 SIM
g 201 228 266 320 358 398 398 1

g1/giBre | 169/159 | 179/170| 204 /196 | 242 /242 | 259 /259 | 306/306 | 306 /306 *
m / mBre 32/36 45/49 71164 52 /52 93/78 110/110 | 110/110
n/nBre | 114/153 | 114/153|122/185| 186/186 | 132/162 | 192/192 | 192/192 =0 D106
p/pBre | 114/108 | 114/108|122/139 | 186/186 | 152/162 | 260/260 | 260 /260

h2 245 .

qZ 401 *
gA /gABre | 714 /805 \727/820\836/943 \893/1072 1003/ 1108(1088 / 1255| 1088 / 1255
SK 9096.1 =[] D98-99

+o L A45 SK 9096.1/63
90 S/L 100 L 112 M 132S/M | 160 M/L | 180 MX/LX
g 183 201 228 266 320 358 :
g1/g1Bre | 147 /148 |169/159 | 179/170 | 204 /196 | 242 /242 | 259 /259 *
m / mBre 26/30 32/36 45749 71/64 52 /52 93/78 ;
n/nBre | 114/153 |114/153 | 114/153 | 122/185 | 186/186 | 132/ 162 =L D105
p/pBre | 114/108 | 114/108| 114/108 | 122/139 | 186/ 186 | 152/ 162

h2 245 &

V4 375 “
gA/qABre | 651/726 \688/779\ 701/794 | 810/917 |867 /1046 | 977 /1082 :
SK 9096.1 =[1 D98-99

www.nord.com G1000 D101



He==—=—
SK... d1 1 o t1 ul v1 w1 T x1 =
SK 92072 14 40 109 16 5 4 32 M5 3,5 | 1 D56-D57
SK 92172 14 40 109 16 5 4 32 M5 3,5 | @0 D58-D59
SK 92372 16 40 109 18 5 4 32 M5 3,5 | @0 D60-D61
SK 92672 19 40 110 21 6 4 32 M5 3,5 | @0 D62-D63
SK 92772 24 50 122 27 8 5 40 M8 2,5 | L D64-D65
SK...-IEC ...
T 8 jv
S i
IEC a b d e f 1 o s t u
63 140 95 11 115 | 3,5 23 85 M8 | 12,8 4
7 160 | 110 14 130 | 4,0 30 85 M8 | 16,3 5
80 200 | 130 19 165 | 4,0 40 [102,5| M10 | 21,8 6
90 200 | 130 24 165 | 4,0 50 [102,5| M10 | 27,3 8
100 250 | 180 28 215 | 5,0 60 [125,5| M12 | 31,3 8
112 250 | 180 28 215 | 5,0 60 [125,5| M12 | 31,3 8
132 300 | 230 38 265 | 5,0 80 175 | M12 | 41,3 | 10
D102 G1000 www.nord.com



SK...-W

SK...-IEC ...

I~

SK9012.1 =[J D66-D67
SK 9013.1 =[J D68-D69
SK 9016.1 =[] D70-D71
SK 90171 =[J D72-D73
SK 9022.1 =[J D74-D75
SK 9023.1 =[J D76-D77
SK 9033.1 =[J D80-D81

™~ o v
- (] S5
o]

S )

IEC a b d e f 1 o s t u
63 140 95 11 115 3,5 23 85 M8 12,8 4
71 160 110 14 130 4,0 30 89 M8 16,3 5
80 200 130 19 165 4,0 40 105 M10 21,8 6
90 200 130 24 165 4.0 50 105 M10 27,3 8
100 250 180 28 215 5,0 60 130 M12 31,3 8
112 250 180 28 215 5,0 60 130 M12 31,3 8

www.nord.com G1000 D103



SK ...

SK ...

-1EC ...

lor

27

SK 9032.1 =0 D78-D79
SK 9043.1 =[] D84-D85
SK 9053.1 =0 D88-D8Y
SK9072.1/32 | [0 D100

T g I

S o1

S I
IEC a b d e f 1 o s t u
4 160 110 14 130 4,0 30 88 M8 16,3 5
80 200 130 19 165 4,0 40 107 M10 | 21,8 6
90 200 130 24 165 4,0 50 107 M10 | 27,3 8
100 250 180 28 215 50 60 124 M12 31,3 8
112 250 180 28 215 50 60 124 M12 31,3 8
132 300 230 38 265 5,0 80 156 M12 | 41,3 10

D104 G1000 www.nord.com



SK...-W

SK...-IEC ...

213

30
e — |
8
=
70 5 41
T
<
le—— ® Jr,i,,
N =
M12
SK 9042.1 =[J D82-D83
SK 9052.1 =[J D86-D87
SK 9072.1/42 =[J D100
SK 9082.1/42 =L D100
SK 9082.1/52 =[J D100
SK 9086.1/52 =[J D100
SK 9092.1/52 =[J D100
SK 9096.1/63 =[J D101

= O

<

o]

2
IEC a b d e f 1 o s t u
90 200 130 24 165 4,0 50 109 M10 27,3 8
100 250 180 28 215 5,0 60 133 M12 31,3 8
112 250 180 28 215 5,0 60 133 M12 31,3 8
132 300 230 38 265 5,0 80 190 M12 41,3 10
160 350 250 42 300 6,0 110 194 M16 45,3 12
180 350 250 48 300 6,0 110 194 M16 51,8 14

www.nord.com G1000 D105



SK...-W

45

SK 9072.1 = [ D90-D91
SK 9096.1/62 = D101
SK...-IEC ...
Je
@s
t
— =
T
A
TN
M~
T g , HENEAN
o] i
S T )
. o/
BN
IEC 100 - 200 IEC 225
IEC a b d e f | o s t
100 250 180 28 215 5,0 60 127 M12 31,3
112 250 180 28 215 5,0 60 127 M12 31,3
132 300 230 38 265 5,0 80 177 M12 41,3 10
160 350 250 42 300 6,0 110 266 M16 45,3 12
180 350 250 48 300 6,0 110 266 M16 51,8 14
200 400 300 55 350 6,0 110 229 M16 59,3 16
225 450 350 60 400 6,0 140 303 M16 64,4 18
D106 G1000 www.nord.com



SK...-W
SK 9082.1 =0 D92-D93
SK 9086.1 =[] D94-D95
SK 9092.1 =[] D96-D97
H07<1]5 69
'€
[le] e |
1S : -
M20
SK 9096.1 = D98-D99
110 15 745
[<e}
E ]
S 6 S
\J
SK ... -1EC ...
e
Js
t
— =
LT
T
22BN
M~
T é > ,Ll,\i R
0 v
S T e
\ 4
BN
IEC 132 - 200 IEC 225 - 315
IEC a b d e f | o s t u
132 300 230 38 265 5,0 80 177 M12 41,3 10
160 350 250 42 300 6,0 110 266 M16 45,3 12
180 350 250 48 300 6,0 110 266 M16 51,8 14
200 400 300 55 350 6,0 110 229 M16 59,3 16
225 450 350 60 400 6,0 140 303 M16 64,4 18
250 550 450 65 500 6,0 140 | 303,5 | M16 69,4 18
280 550 450 75 500 6,5 140,5 | 303,5 | M16 79,9 20
315 660 550 80 600 7,5 170,5 | 381,5 | M20 85,4 22
www.nord.com G1000 D107



Qe
b1 6

SK9012.1 VZ - SK 9052.1 VZ

| x| T
w__|v
£
'6 < P f b i
& % t =
\
SK 9072.1 VZ - SK 9096.1 VZ % %

+ = [ A45 a1l b1 el f1 s1 m1 d | t u v w X T
SK 92072 vz | 102,5 70 85 2,5 M8 x 13 52,5 20 40 22,5 6 4 32 3 M6
SK 92172 vz 120 80 100 8 M6 x 13 62 20 40 22,5 6 5 32 4 M6
SK 92372 vz 140 95 115 3 M8 x 13 75 25 50 28 8 5 40 6 M10
SK 92672 vz 140 95 115 ) M8 x 13 78 30 60 88 8 5 50 4 M10
SK 92772 vz 160 110 130 4 M8 x 13 87 35 70 38 10 5 60 5 M12
SK 9012.1 vz
SK 9013.1 vz 140 98 115 & M8 x 13 68 30 60 33,0 8 5 50 4 M10
SK 9016.1 vz
SK 9017 1 VZ 140 95 115 3 M8 x 13 68 35 70 38,0 10 5 60 4 M12
SK 9022.1 vz
SK 90231 vz 160 110 130 4 M8 x 13 82 85) 70 38,0 10 ® 60 & M12
SK 9032.1 vz
SK 9033.1 VZ 200 130 165 3 M10 x 16 97 45 90 48,5 14 5 80 6 M16
SK 9042.1 vz -

SK 9043.1 VZ 250 180 215 7 M12x20 | 108 60 120 64,0 18 10 100 5 M20
SK 9052.1 vz "

SK 9053.1 VZ 300 230 265 4 M12 x 20 141 70 140 74,5 20 15 110 6 M20
SK9072.1 vz

SK 9072.1/32 VZ 350 *250 300 5 M16x25 | 165 *90 170 95,0 25 15 140 7 M24
SK9072.1/42 VzZ

SK 9082.1 vz

SK 9082.1/42 VZzZ 400 *300 350 7 M16 x 25 195 | *110| 210 116 28 15 180 8 M24
SK9082.1/52 VzZ

SK 9086.1 vz * o

SK 9086.1/52 VZ 450 350 | 400 7 M20 x 30 | 235 120 | 210 127 32 15 180 8 M24
SK 9092.1 vz * *

SK 9092.1/52 VZ 450 350 400 7 M20 x 30 | 288 140 | 250 148 36 15 220 10 M24
SK 9096.1 vz

SK 9096.1/62 VZ 550 *450 500 6,5 M24 x30 | 320 | *190| 320 200 45 10 300 | 10,5 | M30 x 60
SK 9096.1/63 VZ

D108 G1000 www.nord.com



SK ... VXZ

el £1
@ =
1y — ® ® =
| 1 7h < 8
o]
(]

%

£ o[l Ad5 at b1 el 1 X s m1 d I
Shkonal  VXZ1 o 410 75 100 4 4 M8 x13 71 30 60
Shoisl VX2 110 75 100 4 4 M8 x 13 71 35 70
SKo022t  VXZ | 425 90 115 4 4 M8 x 13 86 35 70
SK 90321 (¥XZ [N, 150 100 130 5 8 M 10 x 16 100 45 9
koot VXZ| 180 125 165 5 5 M 12 x 20 115 * 60 120
SKISZR Y VXZ | 55 150 194 8 6 M 12 x 20 145 70 140

SK 9053.1 VXZ

SK 9072.1 VXZ
SK 9072.1/32 VXZ 250 180 215 5 7 M 12 x 20 170 *90 170
SK 9072.1/42 VXZ

SK 9082.1 VXZ
SK 9082.1/42 VXZ 300 230 265 5 8 M12 x 20 200 *110 210
SK 9082.1/52 VXZ

SK 9086.1 VXZ

SK 9086.1/52 VXZ 350 250 300 5 9 M 16 x 25 238 *120 210

SK 9092.1 VXZ

SK 9092.1/52 VXZ 400 290 350 5 10 M 20 x 30 295 140 250

SK 9096.1 VXZ
SK 9096.1/62 VXZ 450 310 400 5 10,5 M 20 x 30 326,5 *190 320
SK 9096.1/63 VXZ

www.nord.com G1000 D109



SK ... VXF

mF i2
Qe mf m1
s1 - I

@d
=

&
|
©

+ = A45 al b1 ci el f1 s1 i2 m1 mF d |
SK 9012.1 VXF

SK 9013.1 VXE 160 110 12 130 35 9 34 71 101 30 60
SK 9016.1 VXF 44

SK 90174 vxh 160 110 12 130 3,5 9 24 71 101 35 70
SK 9022.1 VXF

SK 9023.1 VXF 200 130 12 165 35 11 39 86 121 35 70
SK 9032.1 VXF

SK 9033.1 VXF | 250 180 16 215 4,0 13,5 56 100 140 45 90
SK 9042.1 VXF .

SK 9052.1 VXF . .

SK 9053.1 VXE 350 250 20 300 5,0 17,5 86 145 205 70 140
SK 9072.1 VXE

SK 9072.1/32 VXF 400 *300 20 350 5,0 18 112 170 235 *90 170
SK 9072.1/42 VXF

D110 G1000 www.nord.com



AZVSH

SK ... AZVSH =011 A22-23

7
‘@dH H7
@D
OHB
=

hHB

mHB

2405
| |

N

L

+ =M A45 D dH d 1B IH mH xH hHB HB mHB

SK 90721 AZVSH
SK9072.1/32 AZVSH 120 95(85) 95(85) 80 110 464 5 147 258 487
SK 9072.1/42 AZVSH

SK9082.1 AZVSH
SK9082.1/42 AZVSH 140 110 110 80 160 587 8 208 306 613
SK9082.1/52 AZVSH

SK 9086.1 AZVSH

SK 9086.1/52 AZVSH 160 130 130 80 170 674 8 235 364 720

SK 9092.1 AZVSH

SK 9092.1/52 AZVSH 200 150 150 100 130 754 10 235 364 828

SK 9096.1 AZVSH
SK9096.1/62 AZVSH 200 160 155 95 229 904 10,5 272 455 929
SK9096.1/63 AZVSH

www.nord.com G1000 D111



SK ... AXZH SK ... AZH

hHB hHB
—1

& 19 | ¢
{
SK ... AZH66
SK ... AXH66
+ o[ A45 hHB mHB . / \

SK 92072 AZH 34 86,5 / .
SK 92172 AZH 37 99 g \
SK 92372 AZH 42 117 / é '
SK 92672 AZH 42 120 (
SK 9012.1 AXZH 37 108
SK 9012.1 AZH 42 110 !
SK 9013.1 AXZH 37 108 \ ’
SK 9013.1 AZH 42 110 /
SK 9016.1 AXZH 37 108 ,
SK 9016.1 AZH 42 110 /
SK 9017.1 AXZH 37 108 .
SK 9017.1 AZH 42 110 AN
SK 92772 AXZH - - T
SK 92772 AzZH 44 131
SK 9022.1 AXZH 42 128 =Ll A45 2D L
gﬁ gggg': Q)Z(QH 1‘21' ]gg SK 9012.1 AXH66  SK 9013.1 AXH66 80 25
SK 90231 AZH 44 126 SK 9012.1 AZH66  SK 9013.1 AZH66 85 28
SK 9032.1 AXZH 44 144 SK 9016.1 AXH66 SK 9017.1 AXH66 80 25
SK 9032.1 AZH 47 144 SK 9016.1 AZH66 SK 9017.1 AZH66 85 28
gﬁ gggg'l ﬁ)z(ﬁH 2‘71 132 SK 9022.1 AXH66  SK 9023.1 AXH66 95 30

- SK 9022.1 AZH66  SK 9023.1 AZH66 104 34
SK 9042.1 AXZH 45 160
SK 9042.1 AZH 55 163 SK 9032.1 AXH66 SK 9033.1 AXH66 104 34
SK 90431 AXZH 45 160 SK 9032.1 AZH66  SK 9033.1 AZH66 115 35
SERN31 AZH o9 L SK 9042.1 AXH66  SK 9043.1 AXH66 104 35
SK 9052.1 AXZH 47 192 SK 9042.1 AZH66  SK 9043.1 AZH66 145 38
SK 9052.1 AZH 60 201
SK 90531 AXZH 47 192 SK 9052.1 AXH66  SK 9053.1 AXH66 156 38
SK 90531 AZH 60 201 SK 9052.1 AZH66  SK 9053.1 AZH66 188 44
SK 9072.1 AXZH 53 223 SK 9072.1 AXH66 188 44
SK 9072.1 AZH 62 227 SK 9072.1 AZH66 188 44
SK 9082.1 AXZH 60 260 SK 9082.1 AXH66 245 50
SK 9082.1 AZH 65 260 SK 9082.1 AZH66 260 54
SK 9086.1 AXZH 53 291 SK 9086.1 AXH66 260 54
SK 9086.1 AZH 84 315 SK 9086.1 AZH66 315 50

D112 G1000 www.nord.com



SK ... AFVL =L1A30
H7 dd ne
DdH o >
[
L
T
&
L
I \
H7
DdH = —
Ddne
+ o[ A5 a b c e f h3 s g dH uH tH mH | dHH7 | |H
SK9012.1 AF..
SK90131 AF. | 200 | 130 | 12 165 | 3,5 75 | 4x11 | M12x15 | 35 10 | 383 | 218 35 50
SK9016.1 AF..
SK90171 AE. | 200130 | 13 165 | 3,5 75 | 4x11 | M12x15 | 35 10 | 385 | 218 40 50
SK9022.1 AF..
SK90231 AF. | 250 | 180 | 16 | 215 | 40 86 | 4x135 | M12x15 | 40 12 | 433 | 258 40 60
SK 9032.1  AF..
SK90331 AE. | 300 | 230 | 20 | 265 | 40 85 | 4x14 | M12x15 | 50 14 | 538 | 287 50 70
SK9042.1 AF.. .
SK90431 AF. | 350 | *250 | 20 | 300 | 50 |1345| 4x18 | M12x15 | 60 18 | 64,4 | 3625 | 60 80
SK 9052.1 AF.. .
SK90531 AF. | 400 | 300 | 22 | 350 | 50 | 166 | 4x18 | M24x15 | 70 20 | 74,9 | 457 70 100
SK9072.1 AF..
SK 9072.1/32 AF.. | 450 | *350 | 24 | 400 | 50 | 184 | 8x18 | M24x15 | 80 22 | 854 | 524 80 120
SK 9072.1/42 AF..
SK 9082.1 AF..
SK 9082.1/42 AF.. | 550 | *450 | 28 | 500 | 50 | 210 | 8x18 | M30x2 | 110 | 28 |1164 | 615 | 110 | 140
SK 9082.1/52 AF..
SK 9086.1 AF.. .
SK 9086.1/52 AF.. | 660 | *550 | 32 | 600 | 60 | 262 | 8x22 | M30x2 120 | 32 |1274| 747 | 120 | 160
www.nord.com G1000 D113



SK...VFVL =011A30
|
2 9 \ =
L V I N i =
ol ] T ﬁg
@s ‘ z[
= .
|
[ |
I 7 |
dd | kb (*m6
[—— —
0o j6 (*h 6)
L Je |
L Ja |
+ o A45 a b c e f h3 s g d | t u v w T
SK 9012.1 VF..
SK 90131 VFE. 200 130 12 165 3,5 75 4x11 | M12x1,5 30 60 33,0 8 5 50 M10
SK 9016.1 VF..
SK 90171  VF.. 200 130 12 165 S5 P5 1 M12 x 1,5 S5 70 38,0 10 7 56 M12
SK 9022.1 VF..
SK 90231 VE.. 250 180 16 215 4,0 86 |4x13,5| M12x1,5 35 70 38,0 10 7 56 M12
SK9032.1  VF..
SK 90331 VF. 300 230 20 265 4,0 85 4x14 | M12x 1,5 45 90 48,5 14 5 80 M16
SK 9042.1 VF.. \ .
SK 9043 1 VF.. 350 250 20 300 50 |134,5| 4x18 | M12x 1,5 65 130 69,0 18 15 100 M20
SK 9052.1 VF.. . .
SK 9053.1 VF.. 400 300 22 350 5,0 166 4x18 | M24x1,5 75 140 79,5 20 7,5 125 M20
SK 9072.1 VF..
SK 9072.1/32 VF.. | 450 | *350 24 400 5,0 184 8x18 | M24x1,5 | *90 170 95,0 25 15 140 M24
SK 9072.1/42 VF..
SK9082.1 VF..
SK 9082.1/42 VF.. | 550 | *450 28 500 5,0 210 8 x18 M30 x 2 *110 | 210 | 116,0 | 28 15 180 M24
SK 9082.1/52 VF..
SK 9086.1  VF.. . .
SK 9086.1/52 VF.. 660 550 32 600 6,0 262 8 x22 M30 x 2 120 | 210 | 127,0 32 15 180 M24
SK 9092.1 VF.. . .
SK 9092.1/52 VF.. 660 550 32 600 6,0 262 8 x22 M30 x 2 140 | 250 | 148,0 | 36 25 200 M24
SK 9096.1 VF..
SK 9096.1/62 VF.. | 660 | *550 35 600 8,0 302 8 x 26 M30 x 2 *190 | 320 | 200,0 | 45 10 300 | M30x60
SK 9096.1/63 VF..
D114 G1000 www.nord.com



AFSHVLZ2
AFSHVL3

SK ... AFSHVL =011 A30
H7
@d he @dH
— — — —
L N | A
- N ‘ N| -
|
\
T CID T — — — —
gl ¥ ¢ &
as)
— — — —
0d pg pdH 7
+ o[ A45 a b c e f h3 s g dH/d | mHB mH 1B IH
SK 90121  AFSH..
SK90131 AFSH. 200 130 12 165 3,5 75 4x11 M12x 1,5 35 278 263 41 40
SK 9016.1 AFSH..
SK 90171 AFSH.. 200 130 12 165 8,5 75 4 x11 M12x 1,5 B35 289 263 41 40
SK 9022.1 AFSH..
SK 90231 AFSH.. 250 180 16 215 4,0 86 4x13,5 M12 x 1,5 40 319 308 41,5 44
SK 9032.1 AFSH..
SK 90331 AFSH.. 300 230 20 265 4,0 85 4x14 M12 x 1,5 50 355 337 51,5 46
SK 9042.1 AFSH.. .
SK 9043 1 AFSH.. 350 250 20 300 5,0 134,5 4x18 M14 x 1,5 60 446 4275 | 61,5 58
SK 9052.1 AFSH.. .
SK 9053.1 AFSH.. 400 300 22 350 5,0 166 4x18 M24 x 1,5 70 558 537 71 74
SK 9072.1 AFSH..
SK 9072.1/32 AFSH..| 450 *350 24 400 5,0 184 8x18 M24 x 1,5 80 629 609 81 82
SK 9072.1/42 AFSH..
SK 9082.1 AFSH..
SK 9082.1/42 AFSH..| 550 *450 28 500 5,0 210 8x18 M30 x 2 110 734 695 81 74
SK 9082.1/52 AFSH..
SK 9086.1 AFSH.. .
SK 9086.1/52 AFSH.. 660 550 32 600 6,0 262 8 x 22 M30 x 2 125 892 851 81 98
SK 9092.1 AFSH.. .
SK 9092.1/52 AFSH.. 660 550 32 600 6,0 262 8x22 M30 x 2 150 998 955 101 98
SK9096.1 AFSH..
SK 9096.1/62 AFSH..| 660 *550 35 600 8,0 302 8 x 26 M30 x 2 160/155 | 1134 | 1089 95 140
SK 9096.1/63 AFSH..
www.nord.com G1000 D115




SK...A.. =0A14

SK 9012.1 A.. - SK 9052.1 A.. SK9072.1 A.. - SK9096.1 A..

A A

B
L
-8
TN
b-
B1
&

lo

+ o[ A4S A B B1 c s
SK90121  A..
SK90131  A.. 152 60 - 35 M10 x 16
SK9016.1  A..
SK9017.1  A.. 152 60 - 35 M10 x 16
SK90221  A..
SK9023.1 A.. 152 100 - 42 M12 x 20
SK90321  A..
SK9033.1 A.. 190 110 - 55 M12 x 20
SK90421 A..
SK 90431  A.. 220 130 - 68 M16 x 25
SK90521 A..
SK 90531  A.. 217 185 - 92 M16 x 25
SK 90721  A..
SK 9072.1/32 A.. 290 190 190 100 M24 x 36
SK 9072.1/42 A..
SK90821 A..
SK 9082.1/42 A.. 430 260 260 140 M24 x 36
SK 9082.1/52 A..
SK9086.1 A..
SK 9086.1/52 A.. 430 320 320 160 M36 x 55
SK9092.1 A..
SK 9092.1/52 A.. 520 400 400 180 M36 x 55
SK9096.1 A..
SK 9096.1/62 A.. 580 440 440 220 M42 x 72
SK 9096.1/63 A..

D116 G1000 www.nord.com




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 2400
  /ColorImageDepth 8
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 2400
  /GrayImageDepth 8
  /GrayImageDownsampleThreshold 10.00000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.33333
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.000 842.000]
>> setpagedevice




